)
)
"=
v
7))
.
<
)]
|
T
1
E
Q
[
g
o
>3




Meritor Repair Kits - ELSA1 Series

REF DESCRIPTION DIMENSION QTY
342067 - ELSA1 MCK1102 01 2505 GUIDE PIN (SHORT) @35 x 73 mm 1
Caliper Guides & Seals Repair Kit 02 2509 GUIDE PIN (LONG) @35 x 135 mm 1
03 2558 BOLT (SHORT) M20x1,5 x 90 mm 1
04 2560 BOLT (LONG) M20x1,5 x 150 mm 1
05 2521 PLAIN BUSH 339 x @35 x 30 mm 2
2067
06 2527 BRONZE OVAL BUSH 040 x ©37,3/353x32,5mm | 1
07 2544 STEEL CAP ©44 mm 2
08 272 DUST EXCLUDER RETAINER 039 / 336,5-35,5 mm 1
09 2573 DUST EXCLUDER RETAINER 340 / @37 mm 1
10 2577 DUST EXCLUDER RETAINER ©48 / @37 mm 2
11 582 DUST EXCLUDER 2

2069 - ELSA1 ST1156
Caliper Tappet Dust Covers

2071 - ELSA1

Caliper Roller Bearings

2070 - ELSA1 sJj4112
Caliper Half Bearing Repair Kit

2220 - ELSA1 TYPE
Caliper Lever (Left)

2219 - ELSA1 TYPE
Caliper Lever (Right)




Meritor Repair Kits - ELSA1 Series

2072 - ELSA1 2073 - ELSA1 2074 - ELSA1
Caliper Adjusting Mechanism Clutch (Right) Caliper Adjusting Mechanism Clutch (Left)§| Caliper Adjusting Mechanism

iy

2075 - ELSA1 2076 - ELSA1 2079 - ELSA1 63321678PK10
Caliper Tappet Gear Assembly (Right) Caliper Tappet Gear Assembly (Left) Caliper Locking Shim

2141 - ELSA1 MCK1103 REF DESCRIPTION DIMENSION QTY
CaIiper Guides & Seals Repair Kit 01 2511 GUIDE PIN WITH BOLT END (28,5 x 85 mm 1
02 2509 GUIDE PIN (LONG) @35 x 135 mm 1
03 2560 BOLT (LONG) M20x1,5 x 150 mm 1
01 04 2521 PLAIN BUSH (39 x @35 x 30 mm 2
2141
05 2529 RUBBER BUSH 240 x @29 x 27 mm 1
} ? 06 2544 STEEL CAP @44 mm 2
05 09 07 2572 DUST EXCLUDER RETAINER @39 / 336,5-35,5 mm 1
08 2574 DUST EXCLUDER RETAINER @40 / 330,5 mm 1
09 2582 DUST EXCLUDER 2




Meritor Repair Kits - ELSA1 Series

2077 - ELSA1 2080 - ELSA1 TYPE 2081 - ELSAL TYPE
Caliper Tappet Adjusting Mechanism (Right) Caliper Spring & Retainers Repair Kit (Right) [l Caliper Spring & Retainers Repair Kit (Right)

;[w‘rﬂas—l F— A -

2078 - ELSA1 2249 - ELSA1 TYPE 68322563PK4 2250 - ELSA1 TYPE 68322562PK4
Caliper Tappet Adjusting Mechanism (Left) J§ Caliper Gear Mechanism Right Caliper Gear Mechanism Left

28 - e e
” NS SCIAN §

2211 - ELSA1 2212 - ELSA1 2213 - ELSA1
Caliper Cover Plate Seal Caliper Cover Plate Seal Caliper Cover Plate Seal




